EARAROBEEIERT — 2 N— IBISH —F

20195F4A9H () 1EEHEIR

m 33 Yo% 3% \ (X&) W \ eEmm]l — | 4 (B 14000 &
[AE4£] 17 :340,000 3  23%&:95,000H”  33%&:54,000” 437 :34,000H .~ 57 :20,000H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
S s 1 _EBLE :33. 44— . — Brii—A (BHE
i NE S YT 43 fit 1(3_3)0 3-4-4-4 | 39.8 1 (4354) B
Libh—trva—4> B:Y—a1-—H>F— HE A
o AN AIE— :33. -3-3- . — ERME (BHE)
olzl7| 7oL grsy it 3 i 1(323)4 4-3-3-3 | 40.4 8 (4_118) e 5
RNAT——L B:yIZRry b KK
S PR 4 3 | EEbEE 1:33.5 6-5-5-5 |40.2| — 5 450 | AEEL (BHE)
3l7l8|77voxTTr> 56.0 (172) (1) | HERIE
RLNRVTTY BTITIA #E IE
# 3 | SHEX 1:33.5 8-7-6-6 [39.9| — | 6 | 42 |AHEH (EHE)
4/8|9|L7ARL—F 540 () Gy | ) Ty
R hy¥IA—U— B:FUFALHA L INEF4IS
o thi ) :33. —-1-1- . — BriE—A (BHE)
5055 agRy 7L % 3 S 1(733t)6 2-1-1-1 | 40.8 10 (4_331) e
RELIw P/ EER BTITU-—NL EvilLy KTr—L
o o = DOEERA— :33. —-8-9- . — BriE—A (BEE)
5 3| ARERNLA—F 4 3 L 1(313)8 7-8-9-9 | 39.9 3 (4_213) B
RO-—VRA A1 B:RAFIXT—a EvyLy RT7—L
= . =5 43 | RZAiE 1:33.9 5-6-7-7 | 40.3| — 9 453 | WDE— (BEHE)
7 2| 72Ty bHT- £54.0 (3/4) +2) W) 77-abEvas
RFHVTTIRE B:RE—Fa1TIv bk ARET2-T7—L
5 o . 3 | BREHE 1:34.4 9-10-10-9 | 40.3| — 7 450 |ROFEE (BHE)
8 4 A RILNRILYF 56.0 2 1/2) ¢ () JPNEH
R:AO-JX12 414 B:R14FXEL ML EvilLy RITr—L
o 4 3 | FERME 1:34.6 1-2-2-2 | 41.8| — 4 458 | AEED (BHE)
9|8[10|¥2~¥FT 54.0 (1172 © | (B J PN
RELFAYY BRI T - e
o FLEFRER :35. -9-8- . — AEEL (BHE)
10l 111 NyE—T 14X 4 3 a 1(325)0 10-9-8-7 | 41.2 2 a:g;) AEL
YRG5 B:70X R T7I7€R Ak EE
® 1—F—@EBIERL
13=2F= 10,5,6,7,2,8,3,9,4,1
20—F— 5,10,7,6,8,2,9,3,1,4
== 5,10,7,6,8,9,2,1,3,4
40 —F— 5,10,7,6,8,9,(1,2),(3,4)
[ N5
B 6 240 714K 6-7 1,320 B 6-7 1,180 JEE 6-7-8 7,880
B B 6 130M 6-8 310M B = 6-7 4,050M EE 6-7-8 37,990/
7 500/ 7-8 2,620 B H 6-7 5,900
8 360M

ABICOVWTRDTEEERROODE. TR LIV,




